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MATHEMATICS SSC- |

(Science Group)

Total Marks Sections B and C: 60

SECTION — B {Marks 36)

| a2 5 Fur mPS = 2em,mSQ =3em | ;

Q.2 Attempt the following Questions. (9 x 4 = 36)
i e _ré | I
if 4 [_7 5:|‘B J___J,C [8 —t1] then find | Sxibiornéing oo
X when X = 4*-2B8C AL a-ud?? Pr.
» | 6 ¢ .| 1x4| OR x4
22| X}’Az[ : 5},3:{ _J:c:[s -] 57.26
f i 30.382
X = 4*~2BC Sl /ot | -
(i) P F b L ! Verify that the given points are collinear.
i . 20522 %27 x 57 :
i Simplify 3 = 7 ] (—2, 15)! (3! _5)! (9, ?} ! ;
: R U T T x4 | OR x4 |
| 10° x4% x18* x81* - -wﬁﬁbﬁzééﬁ:fuﬁ')’mfj :
LS # '
G [Find the value of x , when log, (' =7) =2 ). U
g, (" =7) ) If A =-[2 ’ J then show that 4™ 4=71
g logy(x =T =2 Lag e i x| | o - -
u 9 =y
AA=1Ly ki A= [2 1] A
™) | Ify=f5+2, then find 12 B -l
If Z=~=~<i then show that Z - Z = 2iIm(Z)
1 1 2 2 %
a) y+— b) y-— ¢) ¥ +& 1x4 | OR 242
g 4 , Z-Z-UTZ) figS et Zul 24
-£L= A jrer = ———
-U:_fr:'-"i_rs_;-\f;-rsz 23
{v) [Usea factor theorem to factorize: Find the square root of:
.\f! +5xz—-2.x-~24 1x4 OR X“‘lﬂ.l) +31x’ +30x+9 1x4
E(vl} Find HCF by division method If a+b=5,0b=2then |:;r-l:'we that & +5 =05
: 2 - Tx 1 x+6, 62 —x* —Tx-2 2¢2 | OR | 1pa
| ‘_’f;ﬂ]"‘f’:v,_g,-,;fvlgu a +b =95.fu_'/.=».l."?a+b=5,ab=2ﬁ :
(vii) |Solve the inequality. | i if the given figure ABCD 1s a paralielogram, |
x+5 _ 25-4x then find the value of x and y
10 5
S fesinp | 4| OR ' %4
| LSS g o 2 Irlwemsar i ABCD P § 5 S
(vil) |[Prove that “Any point inside an angle, Write the given equationin y = mx -+ ¢ form. Also find
eguldistant from its arms, is on the bisector of it". o 40542 |
’ . g va mandgc. —+==4
M e A SNBSS Ll um L1 | 1x4 | OR 2 3 242
ORI L i i Sinr 1 -s.z)’ra"‘l.sfo."_'g;;wm-.;fﬁuﬁupury=mx+c!’~:-*-'§=4
(i) |Forthe given figure, find the length of BC In figureST||OR and  mPR=15cm
) mPS =2cm,mSQ = 3cm then find value of 'x'
P
1x4 | OR 1%4
B 20ki5 D 3xepn €
UL B B QT S
QUG BC L LPEG iR = 15em o ST | DR 2P |
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SECTION — C (Marks 24

Note: __Attempt the following guestions. (3 x8=24)
Q.3 | Use matrix inversion method io soive system | Prove that the sum of the lengths of any fwo ;
- ) w+y=1 sides of a triangle is greater than the length |
of iinear equations. B il | or of the third side. : » |
' - ) EN
P 5 ey e ke s i
.J_/(JP:.-JAJJP!—U::JF;LJ}LQ?I:PJJ: Jt’“’d ,&J‘fbu,f_’ir}uf,ﬂv‘bli-uiru‘ J‘(""—‘J = |
_ﬁ-..l:':ﬂ::a.-)jy :
@4 | Prove that if the square of one side of a Prove that the Parallelograms on the same 7
triangle is equal to the sum of the squares of base and between the same paraitel lines (or ;
" the other two sides, then the triangle is right of same altitudes) are equal in area.
o Suge? s/ x4 | OR 1o 2t Ll G A1 S At | 20k
- 3 .
Jr by VU Ol ey /i | . 2 7
rlra' = 3 ”(_'/”d/ s = | ;!'n:(u.-f.f,u.b'-i'Ji:ﬁwlk)u:ff}!:dy_wf.j-r'u di@‘ﬁ
Qurad s JinfG linmed sl C A LusisL i
- = . . Wl ,Ju,pql/_bc
Q5 | Copstruct theAXYZ, draw their three ! The~pelynomial =~ a’ +bx’ —4 leaves the ¥
' medians and show that they are concurrent. fémainder of -3 when divided by x-land
Write steps of construction. leaves the remainder of 12 when divided by
mXY =9.5cm  mYZ=8cm msY =75° | 438 4 OR | x+2.Find values of « andb avd |
| frlf;{;i?ﬂﬁ)}!ﬁé{h-!dﬂ.;f‘.{hmﬂ; i .”ig'_,—:i s'.;,i.fl‘:-‘,-jxwljraxj ".b]:z_“&)‘?z

_u’:ﬂ‘f Jf Ut@’-w ﬁ
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